SISTEMI SIMMETRICI
Correzione degli esercizin. 5, 9, 11, 13, 15, 16

5)

C1+41+24 15 | 12 3
12 12

1,2

9)

Xy =16
x%+y? =32

Xy =16
(x+ y)2 —2xy =32

Xy =16
(X+Y)2—32=32; (X+y)2:64; X+y:i8

{xy=16 y {xy=16
X+y=8 X+y=-8
t> ~8t+16=0 t? +8t+16=0
(t-4)*=0 (t+4)* =0
t,=4 t,=-4

X=4 . X=-4 .
{ soluz. "doppia™ { soluz. "doppia”
y=4 4



11)
xy =3 xy =3
X2+y?=14 |(x+y) -2xy=14

Xy =3
{(x+ y)2—6=14; (x+ y)2 =20; x+y=+/20=+25

x+y=25 X+y=-25
Xy =3 Xy =3
t2 _2tJ5+3=0 t2 4+ 2tJ5+3=0

b, =v5£V5-3=52V2  t,,=-5£/5-3=-52
{x=\/§+ 2 {hﬁ—ﬁ {h—ﬁ—ﬁ {x=—\@+ﬁ
y=v6+v2 [y=—5+v2 [y=—5-+2

13)
X+y=2a
x% +y? :2(a2+b2)

X+y=2a

{(x+ y)2 —2xy:2(a2 +b2);

4a% —2xy = 2a’ + 2b%; —2xy =—-2a% +2b?;
2xy =2a% - 2b%, xy=a?-b?

X+y=2a
{xy:a2 —b?

t2 —2at+(a2—b2):0

t=at /az—(az—bz) _atyaZ ~a +b% —a+b



15)

3 3 _
{X Y 2_14 X3+ y% = (x+y)> -3xy -3xy? = (x+y)° ~3xy(x+y)
X+Yy=

(x+y)* =3xy(x+y)=14
X+y=2

8-6xy=14; —6xy=6; xy=-1
X+y=2

t2-2t-1=0
t, =1£V1+1=1£+2

{X=1—\/§ y {x:1+\/§
y=1+2 y=1-2

16)

ty =

N

X+y=1
(x+ y)3—3xy(x+ y):%
X+y=1

1—3Xy=%: 3xy=1—%; 3xy=%; xy=%

X+y=1

2 _t+iog
4

42 -4t +1=0

(2t-1)* =0

1
H2=E
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